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I 1y mwn: Dispute n'nan/r™ about "w’p 07 during 1mv »>
a  Case: if she sees "wp 07 during 80 days after napy nY (she got pregnant right away or has a second twin [M] not yet born)
b owom: all that o7 is 1100 — until she has 751
i Argument: if we are strict about »a1» 7 (before birth), yet, at that point, we are lenient about >»1p o7
1 Then: certainly when we are lenient about v o7 (during 1mv »n’), we should be lenient about *v1p o7
¢ N7 thatpTisRno
i counter: employs rule of v -before birth, we only release her from n21, not 071 — same in this case
II  parallel xn»2 (3"n): adds awn (v. 1) and position of mnan, dissent of X"
a  opom modify argument — if we are stringent about ': alone, but lenient if accompanied by "w’p (before birth)
i Then: certainly after birth, when we are lenient about *3» alone, we should be lenient if accompanied by nwp
b  »”r still responds with 17— we are only lenient regarding na’t, not nm
i ~27 8™ made asolid point:
1 p’wom agree that T means “only self-generated, not due to 1on”
(a) Simlarly: v. 2 means — only nnv regarding o7 that is self-generated, not due to Ton
(i) Challenge: why not limit this n7n0 to 071 *m> — but N2t "2 — she should be Mmnv
(if) Answer: 2wn implies a common N2 (whether N " or N1 ", status is consistent)
II 1 mwn: default status of a woman during n71 " etc.
a 11 days: of N2t — assumption is MnY; even if she failed to perform np>1a (even intentionally) — nnv npm
i But: when he non arrives, assumption of nkmv
ii ~ »”rif she was (e.g.) in hiding and her non came (and went) without np»1a — N7V, since terror suspends blood
b  However: during “counting” days of ar and nar — or the day of the oy 15 DY NMIMWY — assumption of kMY
IV Analysis of mwn
a  Question: what is the import of nnv npmn (during 11 days of na1)?
i Answerl: indicating that she doesn’t require np’1a
1 Challenge: language of 2™ clause implies that she ideally requires np>13; just assumed to be M nv if she doesn’t
2 Answer: that 2" clause refers to mT »n; no requirement at all during 11 days, during mm »m, should check
it~ Answer2 (8701 7): taught for n"’s approach — he ruled that if a woman has no non, she may not have nx»a
1 However: that is only true mym 'n’3; when she is N2t 'n%1, may have nx’a (mnv npm)
2 Challenge: why did n™ ruled that such a woman may not remain married?
(a) Answer: she may inadvertently cohabit during m >
3 Challenge: referent in nwn is woman with a non ("nnon nyw y1n”)
(a) Answer: deficient version — should add — during mm »m, prohibited; if she has non — permitted
(i) But: requires np>13; if she didn’t — NNV NpPIN; except at noNn NYW
(b) Challenge: since last clause (about the “hideout”) is n"™ =»rest is not n™
(i) Defense: entire mwn is authored by n™ (if she wasn’t in hiding, at nonn nyw — NRNY, per N™)
iii  Answer3 (837): teaches that she has no retroactive nkmv (»"5yn)
1 Challenge: n75v ,nar ,nT1 and 0y nIMW all have retroactive nkmv — (refuted)
iv  Answer4 (581®): teaches that she cannot establish non during nar »m»
1 9o»r 37 forgot that he had learned this and applied it
2 »ax reminded him of context:
(a) an73xif she was used to seeing on day #15 and changed to day #20 — both are o mor
(i) 9o» "7 only if this was day #15 from her nm n%1v (i.e. day #22 — during m )
1. But: if day #15 from last n&7 — no non can be set for this day (during na’t )
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V 9" and 7 11 8nn "1 whether or not she should be wwin on that day during na'r 'n> when she has a (new) habit of seeing o7
a 971 holds that we would count the “22” (in the case above) from day #22 — not #27=»during n1r »n, day is MoR
b 777z we count 22 from day #27 (her “new day”)=»she is only nwwin during mm
i Proof (717 7772 777): if a hen lays an egg every other day and then has two days in a row with no egg (e.g. laid an egg on
day #1, no egg on day #2, egg on day #3, no egg on day #4, then no egg on day #5) then laid an egg on day #6
1 Should we: expect her to adopt to her “new system” and have another egg on day #7
2 Or should we: expect her to continue skipping days and have no egg on day #7?
(a) Answer: we should expect her to revert to her old pattern and skip day #7
ii ~ Counter (97): the dispute *1/9" whether she can be non nya1p during mm " (both agree that she can be non nyap during
N1 ;0™ allows for non my’ap during mT "1’ as well) — what is the case
1 Isn’t it: where she saw on n"9, then day #5, then n", thenday #5 — then, skipped n™ and saw on day #5
(a) Proving: that we count from n" — even though she didn’t see then
iii Response: that case could be where she saw on consecutive mwn »wR3, then saw on day #25, then n"
1 janp /7 assumes that she had “surplus 01” and 5™ rejects that
2 However: in any case, we are counting from day #25 (when she saw)
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